ERREGEeana s W LoP AP

PROFESSIONAL & HIGH QUALITY

RISEHEEY  10He ]

TREERER  10H6A ——] |

wam 086D -

%5 2i)

- I L R A S - DS
B TRRGEASEIT » WTSFITE ] - LS B
PIFE 58 -

10H-6A \ 10H-6D \ 10H-6N
g ®20 2532~ 40
A i g BREZBREZER (BB EE)
B # @& 1.02 ~ 10.5 kgflcm’
wm E # E -5~ +60 °C ( TH##E)
EmOE R OE 3 ~ 300 mm/s
& ) g T
Lk
10H-6 SD 25 B 50 B B Y - 1
| | | | | | | | | |
By || BEE || N | BE || 78| a8 onnE s | REER B e
[ [ [ [ [ [ [ [ [ [
> i e || 207 020 |N: AR | g || RORAE 1M = S EmEo) DI106 ||1:11@
MOH_G sp|| 25° 025/ B WHEM | (T2 | o:mmoomm || 5 A | | v:ymiEm [ o | 2: 28
\ I 32: ®32 I
s L4050 S EEmE
MH-GA FA L "%”3‘595
I I
/ |
: 10H-6D FB S: %?E?%EE
I I
P = By == (3
,M 10H-6N LB F : 98hi%aE
I
CuU

IRAEITIER

FEAE 1Z#E1TH2 (mm)
®20~25~ 32~40 25,50,75,100,125,150,175,200,250,300

® 27-01



@ Tor AIr

PROFESSIONAL & HIGH QUALITY

B2 A 8580 22 M EZhifiL

10H-6" Bzt ka3t RIstlNG
L1
®CD
Ky EE EE oD
KX KU l‘_\
| i | =
\—w | 1 z
wl 2y (= o I B | w I
[ 8 X m =z
—/
_l \
DE BF G « C o EW
AM WF Z1+ 1782 EX
XC + 1712
ZB + 1712
10H-6A" IEZ=Eip e AW E % AN
i | L
| |
\ \
Z1+ 4712 2
10H-6D i uiyEdsitiNg)
o
[=imal| E—— i )
—/
Z1+ 1778
ZM + 2x 1772
1
EZ’E AM BE BF |CD| D |DF| EE |EX |EW| G KK KU | KV |KX| L |L1| MM| NI | NJ |WF|XC| Z1|ZB |ZM
==
®20 |20 |M22x15| 18 | 8 | 30 | 6 |PT1/8|27 | 16 | 15 |M8x1.25 | 7 |27 | 14 |12 |22 | 8 15 |28.5| 24 | 95 | 59 | 125|107
®25 |22 | M22x15| 20 | 8 | 30 | 8 |PT1/8| 27 | 16 | 16 [M10x1.25| 9 | 27 | 17 | 12 |22 | 10 | 15 |28.5| 28 |104| 64 | 136|120
®32 |23 | M27x2.0| 20 | 10 | 38 | 8 |PT1/8| 35| 20 | 16 |M10x1.25| 10 | 35 | 17 | 156 | 27 | 12 | 19 |36.5| 28 |115| 72 | 150 | 128
®40 |23 |M33x2.0| 20 | 10 | 45 | 8 |PT1/8| 42 | 20 | 16 | M14x1.5 | 14 | 41 | 22 | 15 | 27 | 16 | 22.5|43.5| 28 |115| 72 | 150 | 128

® 27-02




ERREGEeana s W LoP AP

PROFESSIONAL & HIGH QUALITY

10H-6N B DEENEI YN
@7 25mm
KV 2.EE ML
/ MS VB
mn ] H —— .
s i ) _
] T e )
[ [ ] —
DF|_ BF BG 1172 AA
AM WF 71+ 1712 HA + 17#2
ZA + 2 x 1718

EE;E AA | AM BE BF BG DF EE HA KK KV MA MB MI ML MM MS WF Z1 ZA
|
®20 45 | 20 | M22x1.5 18 25 6 |PT1/8| 78 M8x1.25 27 22 8 24 43 8 33 24 59 181
®25 46 | 22 | M22x1.5 | 20 25 8 |PT1/8| 79 |M10x1.25| 27 22 8 24 45 10 35 28 64 193
®32 46 | 23 | M27x2.0 | 20 25 8 |PT1/8| 79 |M10x1.25| 35 27 10 29 45 12 35 28 72 202
®40 50 | 23 | M33x2.0 | 20 25 8 |PT1/8| 83 M14x1.5 41 32 10 35 47 16 35 28 72 206
10H-6N" B:iE BRSNS
@1]:A 50mm
KV 2-EE ML

1T

BE

e |H

DF|_BF BG 1712

AM WF 21+ 1712 HB + 1772

ZB + 2 x 1712

Eg?{:f AB | AM BE BF | BG | DF | EE HB KK KV MA | MB Mi ML | MM | MS | WF Z1 ZB
®20 | 70 | 20 | M22x1.5 | 18 | 25 PT1/8| 103 | M8x1.25 | 27 22 8 24 68 8 58 24 59 206
®25 | 71|22 | M22x1.5 | 20 | 25 PT1/8| 104 |M10x1.25| 27 22 8 24 70 10 60 28 64 218
®32 | 71|23 | M27x2.0 | 20 | 25 PT1/8| 104 |M10x1.25| 35 27 10 29 70 12 60 28 72 227
®40 | 75| 23 | M33x2.0 | 20 | 25 PT1/8| 108 | M14x1.5 | 41 32 10 35 72 16 60 28 72 231

@ ||| O

® 27-03



@ Tor AIr

PROFESSIONAL & HIGH QUALITY

B2 A 8580 22 M EZhifiL

FA(FB) EL L FA(FB) &
FA B FB & =70,
ﬁ%ji s F M R T u
®20 40 7 5 - 50 66
®25 40 7 5 - 50 66
®32 45 7 5 20 60 80
®40 50 9 5 30 80 100
i
T I
20 19 88
25 23 97
32 23.5 104.5
D40 23.5 104.5
]
S
LB EUENESS L]
,E;f( A B c FB N X
®20 5 17 25 7 25 35
i ®25 5 17 25 7 25 40
| 9 | ©32 | 5 20 | 30 7 3B | 42
- - ©40 | 5 20 | 30 9 40 | 42
=0 C i V- zﬁ = N 5 o S
s ‘ s | B ©20 | 93 | 40 | 54 7 36
R  zeiR ©25 | 98 | 40 | 54 | 11 | 40
‘ ©32 | 112 | 40 | 55 8 | 435
©40 | 112 | 50 | 75 8| 435
CU E DENICESE) cu
E25%
L ATRS C FB D H L M
H | ®20 | 20 7 32 | 30 6 16
i ®25 | 20 7 32 | 30 6 16
| ®32 25 7 40 40 7.5 20
®40 | 25 9 40 | 40 | 75 | 20
gﬁ N o T z
Z+ 2 3£
©20 | 24 | 16 4 91
©25 | 24 | 16 4 | 100
©32 | 28 | 20 4 | 110
©40 | 28 | 20 4 | 110

® 27-04




BI85 4 22 m EEhEL

@ Tor AIr

PROFESSIONAL & HIGH QUALITY

Cy REE=A 0 G
\% U =7
f—" ] ﬁ%fg D | F | o K T U |V
7\ T 7W ©20 8 | 32 | 42 | MBx125 | 16 | 8 | 16
N g ©25-32 | 10 | 40 | 52 | M10x1.25 | 20 | 10 | 20
- 40 10 | 45 | 58 | M14x15 | 20 | 14 | 25
-
|
r»‘ Tln \..D
|«
@ zim ) wmEeR
C
SC5R
B =
i b | F| o KK T U |V
—— oD ©20 8 | 32 | 42 | MBx125 | 11 | 8 | 16
g TT ©25.32 | 10 | 40 | 52 | M10x125 | 13 | 10 | 19
¥ J ti ©40 10 | 45 | 57 | M14x15 | 13 | 14 | 254
-
w
KK
@ s mumeRS
\
E y g%f; BlCc|D|E|F |G| J | K |s
R . ®20 | 9 |12 8 | 22 | 36 | 47 | 17 | M8x1.25 | 14
©25.32 | 105 |14 | 10| 26 | 43 | 56 | 21 |M10x1.25| 17
[a]
() Sl ©40 | 13519 | 14| 34 | 57 | 74 | 27 | M14x15 | 22
SR o
w
I \
G zevsE s R
KK ISR ;%z A|lB|lcCc|D|E|F K u
®©20 | 47 | 11| 19 | 20 | 13 | 65| M8x1.25 | 0.75
> )Eq ©2532 | 54 | 13 | 24 | 255 | 125 | 8 |M10x1.25| 1
%5:: : S 940 71 | 17 | 20 | 31 | 15 | 11 | M14x15 | 1.15
SHIIE (g
E F B KK
A C

® 27-05



@ Tor AIr

PROFESSIONAL & HIGH QUALITY

B2 A 8580 22 M EZhifiL

B : kg
= 10H-6 10H-6A 10H-6D 10H-6N
e P o Al @172 25mm Al FA77F2 50mm
am| BAE | Eamn | mAE | Ramn | EAE | SR
®20 0.150 0.019 0.141 0.019 0.176 0.029 0.275 0.029 0.337 0.029
25 0.190 0.027 0.185 0.027 0.236 0.043 0.377 0.043 0473 0.043
32 0323 0.040 0313 0.040 0.385 0.062 0.495 0.062 0.590 0.062
®40 0.495 0.059 0.482 0.059 0.610 0.098 0.788 0.098 0.927 0.098
BBHEsER e
Bt kg
;%jﬁff FA/FB LB cu Y I S F AR 1218
®20 0.049 0.173 0.064 0.046 0.044 0.053 0.061 0.005 0.011
®25 0.049 0.173 0.064 0.088 0.080 0.080 0113 0.008 0.011
®32 0.099 0.218 0.089 0.088 0.080 0.080 0113 0.008 0.030
®40 0.132 0315 0.151 0.151 0.157 0.175 0.245 0.016 0.038

® 27-06



